' X E B R X AN R F
= PRk 26433 1H

H Fik2544H1H

%4 5 (BfE - 1)
& &t NI k97 SR T
MFEXBEFENA 295,896 0 295,896
27PN 60,080 60,080
W TEFENA 33,750 33,750
k. LR =T PN 202,066 202,066
57 FIMERA
53 A RES Y SR
7= RS 551 4B RA
3| A |EEMB&E RIS S BUAEH 636,455 636,455
¥ MF XBEFEEBNAG (1) 932,351 932,351
& BEXBEFEXH 193,616 193,616
i 7YY —HELH 0 0
| 3| REYFESH 24,632 24,632
53 TEFEZEM 168,984 168,984
D 5 afiili=ESlk-¢ 0 0 0
il DA A8 2
4 E&EA 0 0 0
IRIEAS 55 [ 4 A A
H (72 72 1 2 HE PR 0 0 0
7 7 VR E HEIRER
BE X B EEEE X ME (2) 193,616 0 193,616
B R EEBHIN G ZEH (3)=(1D)-(2) 738,735 0 738,735
FIABHRA 684,150 0 684,150
FIRPEBHA 0 0
& FI BRI 684,150 684,150
Ik | I (R R E MBS 0 0
Ei Y = EHENEAINON 0 0
¥ B XERINA 28,969,785 0 28,969,785
% TR {ION 28,969,785 28,969,785
i HENA 453,550 0 453,550
A HEA 453,550 453,550
53 FIM4E&ERA 0 0 0
» BIEAS 55 4B RA 0
B AL EEBINAG (4) 30,107,485 30,107,485
NEBESH 21,034,810 21,034,810
Tk B fa 18,406,789 18,406,789
Tk E5EF4 1,328,898 1,328,898
X EFEREG S 83,300 83,300
pIES e 0 0
IEE A 1,215,823 1,215,823
EEEW 4,982,958 136,315 4,846,643
EA AR 301,503 0 301,503
ik A 360,160 35,000 325,160




(AL : 1)

WHE#E 8,500 8,500
THRESE 605,044 605,044
KBS CEE 505,858 505,858
EREE: 223,919 223,919
| B(EERE 360,780 360,780
B ORBRE 473,850 473,850
EfEE 302,137 302,137
FABLA TR 73,926 6,076 67,850
MEEy 1,767,281 95,239 1,672,042
HEBRXMN 2,077,328 0 2,077,328
et 1,171,765 1,171,765
R R A 211,424 211,424
U — Zf} 71,820 71,820
PR R 516,371 516,371
THRESE 30,398 30,398
n BT e 75,550 75,550
HEE 0 0
5 afiili=ESlk-¢ 2,112,149 0 2,112,149
PRl (8 2N 2,112,149 2,112,149
4 E&EA 0 0 0
IRIBAS 55 4 A
EHLEZEEE X HE (5) 30,207,245 136,315 30,070,930
B EEBIN S ZHH (6)=(4) - (5) A 99,760 A 136,315 36,555
EASFEMBISINA 0 0 0
B YNSRI N
¥ | I | ZEABELY S 3,449 3,449 0
& 4 CHFSNETEN PN 3,449 3,449 0
& | A |BFESREH A (FRAEINA) 0 0 0
4 BARREZRIEHENILE (FEHELA)
I HREBIMIAGH (T) 3,449 3,449
x fEASFEX M 0 0
DX | NSRRI
h AMFESRFE AR (FEHRAill) 0 0 0
M| AEEATEHEE (GeHNF )
FHEEEN I HF (8) 0 0 0
HEEBIMNZERH(9)=(7)-(8) 3,449 3,449 0
BRI X248 (10)=(3) +(6) +(9) 642,424 A 132,866 775,290
I | FER R F AT &I 0 0 0
e 55t A A U 0 0 0
i = B B & S R S L & T R 0
BN R BIMAE (11) 0
I HEARSH AR 0
XX 1 BEARESHAH
) 2 HRAR S NEE
il R N I




(AL : 1)

(21)=(16) +(17) - (18) +(19) - (20)

H | E A B &5 R B & T AR 0 0
KR HEF (12) 0 0 0
KR S Z4E (13)=(11)- (12) 0 0 0
Y HATE BN S 2248 (14)=(10) +(13) 642,424 A 132,866 775,290
6 | AT HAARERTS BhIN S Z=4E (15) 14,858,783| A 3,239,809 18,098,592
k| 4 AR TE BN S Z4H (16) = (14) +(15) 15,501,207 A 3,372,675 18,873,882
1% | EAREEEAZE (T)
B |FEAEAE K (18)
ijrd 4 FHEAR A NEA
X |F DM OFE LA TR (19)
2= | DML ORE ST A58 ST 4H (20)
A .
) SRR B 28R 15,501,207| A 3,372,675 18,873,882
il




